— =

ﬁ

-
——

HERRE| pr m—
o YHRN| [y S
W [N T
HILN B
A ¥ []

NEEER = =
\ [ [T[IH§

[T T 711
NEEEl K

3

), L B -

///4

Ornamental
Wood Ties

OCZLCO BUILDING PRODUCTS IR [

V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/16/2016 . This information is updated periodically 1
and should not be relied upon after 2 years from 3/16/2016 . Please visit OZCOBP.com to get current information.

OZCO Project #337 - Railed in Pavilion




One Page Process #: 4002

Printing Documents

H from ISSUU

Unfortunately, there is currently no way to print content directly
through issuu. To print a publication, you will need to download
it and print it from your computer.

One of Two Access Points for ISSUU
WEBSITE DIRECT

( You MUST create an account with Issuu or log in with Facebook or Google+ )

) Y

( Below the publication is an icon I»I click it J ( Below the publication is a word “Share” click it)

Y v

N
( Select the “Download” Option & Save the File to an easily accessed location. ﬁ

v

( “Open” the downloaded file, View and/or Print as you want. )

b=




OW o OZC O BUILDING PRODUCTS Il I

—

1

[2256] — — - —
88.81 sisizlsizlsizls ainizlsiznlsizls
o o o Y — o o o o s
1 { ol o
. [1287] |
50.68
[4636) _
182.50

Overview-Front

: . H AR V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/16/2016 . This information is updated periodically
0zCo PFOJeCt #337 - Railed in Pavilion and should not be relied upon after 2 years from 3/16/2016 . Please visit OZCOBP.com to get current information. 3



° | [Firs

OZCO BUILDING PRODUCTS Il IR

| 1. [ I |
[ I _ — ]
[3753] ) _ I i _ _ i f
147.75 — [406]
. _ 16.00 typ
[ . ]
' ) 3 o
[639]
s - s R 25.16
| | ; Ab 1l [ '

Overview-Top

OZCO Project #337 - Railed in Pavilion

V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/16/2016 . This information is updated periodically

and should not be relied upon after 2 years from 3/16/2016 . Please visit OZCOBP.com to get current information.

4



OW [ocaren OZCO BUILDING PRODUCTS IR [

B_dp <

Overview-Right 138.25

H . f AR V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/16/2016 . This information is updated periodically
0zCo PI’O] ect #337 - Railed in Pavilion and should not be relied upon after 2 years from 3/16/2016 . Please visit OZCOBP.com to get current information. 5




-
]
%)
T
Q
>
[
®)
i
[(m
(&3]
=
-
>
o0

g

\\\\\\\\\\\\\N\h\%\\\.@d.
KX
X2

<&
%
AN

9 Y
g
76 9

S9\4
7033

Q\A

- (L =~ T
y—— & [T 7
—171

1 =

il L1 1

T ]
e e

:

Bill of Material

c
=)
>

©
£

(3}
‘T

1

13}

Q

oject #337 - Railed in Pavil

OZCO Pr



OW o OZC O BUILDING PRODUCTS Il I

ITEM NO. QTY. PART NUMBER _DESCRIPTION
1 10 56608 6x6 Post Base Kit (6X6-PB-LS)
2 18 56641 2x4 Top Rail Saddle (2x4-TR)
3 2 56612 "T" Tie Plate (TTP)

1.5 56611 Truss Accent (TA-LS)
0.08 56625 OWT Timber Screw 1-3/4"
4 0.88 56629 OWT Timber Screw 7-1/2"
5 3.6 56618 4" Standard Rafter Clip (RC-LS-4)
6 0.56 56627 OWT Timber Screw 3-3/4"
7 4 56616 Flush Inside 45 (FI-45)
1 56611 Truss Accent (TA-LS)
0.08 56625 OWT Timber Screw 1-3/4"
8 16 56650 OWT Timber Bolt 6-8"
0.5 56680 g) Timber Bolt Heavy Duty Washer (OWT-TBW-
9 14 56650 OWT Timber Bolt 6-8"
0.25 56680 %) Timber Bolt Heavy Duty Washer (OWT-TBW-
10 2 56636 Post to Beam Bolt Offset (P2B-BO-LS)
11 2 56636 Post to Beam Bolt Offset (P2B-BO-LS)
12 3 56637 Post to Beam Bolt Inline (P2B-BI-LS)
13 2 56619 Truss Base Fan 8:12
2.5 56611 Truss Accent (TA-LS)
0.08 56625 OWT Timber Screw 1-3/4"
14 10 6x6 Cedar Post 6x6x96.00
15 8 6x6 Cedar Support 6x6x36.00
16 2 2x8 Cedar Board 2x8x192.00
17 2 2x8 Cedar Board 2x8x144.00
18 8 2x4 Cedar Board 2x4x60.00
19 8 2x4 Cedar Board 2x4x63.38
20 79 2x2 Cedar Board 2x2x36.00
21 4 2x6 Cedar Board 2x6x60.00
22 6 2x6 Cedar Board 2X6x63.38
23 4 2x6 Cedar Board 2x6x50.56
24 1 2x6 Cedar Board 2x6x168.00
25 18 2x6 Cedar Board 2x6x132.00
26 2 2x4 Cedar Board 2x4x44.75
27 1 2x6 Cedar Board 2x6x44.75
28 13 2x2 Cedar Board 2x2x72.00
29 1 2x2 Cedar Board 2x2x48.00
Bill of Material

. _ : f AR V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/16/2016 . This information is updated periodically
0zCo PFOJeCt #337 Ralled n PaVIIIOn and should not be relied upon after 2 years from 3/16/2016 . Please visit OZCOBP.com to get current information. 7



OW oz — OZC O BUILDING PRODUCTS Il I

56616
/\

0|

OZC

BUILDING PRODUCTS I I - - - - -

: : A T V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/16/2016 . This information is updated periodically
0zCO PrOJ ect #337 - Railed in Pavilion and should not be relied upon after 2 years from 3/16/2016 . Please visit OZCOBP.com to get current information. 8




OZCO BUILDING PRODUCTS Il I

E 4
I P
i - i i ili V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/16/2016 . This information is updated periodically
0zco PrOJ ect #337 - Railed in Pavilion and should not be relied upon after 2 years from 3/16/2016 . Please visit OZCOBP.com to get current information. 9



